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é')m’p Riezt shows dqwnstream(blue bar) and upstream(orange bar) distance
travelled by a boat in km. e ' |
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Question 1- Downstream speed for T and upstream speed ot Q 1s
same and the difference between the time taken by Q going upstream

and time taken by T going downstream is 21 hour hrs. Find the the

time taken by Q 1n upstream.

ch’?&m? T 1- T o STIYETE shi Tid 3R Q 3hl G 6 icehed Tid GHI & ST
L=

 Jiciehed ST dTed Q BT 7T T ¥/ S T T & oh SFfehed SIH H
ToTQ 71T |1 o Sfir =T ST 21 & 81 GRT 6 Ficshed Q T fofam T /e

A- 24 hr

B- 34 hr
C-4hr
D7 54 hr

E- none
https://t.me/mathbytarunsirmepl
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Question 2-If the ratio of speed by boat R 1n upstream and
downstream 2:3 and total time taken to cover this distance is 2 hour .
Then find time taken by boat R in downstream to cover 250 km.

T 2- Al G o6 Fidshet 3 31de|6 W ATE R G TTH 3T AT 2:3 ©
SRS ENEIRREE RERRIRIRIE N LR AR N IR CTEIE
R I 250 fehet 3t gt o2 st | foram 12 eHe 31 <hifsr

A-100/19 hr

B- 200/19 hr

C-121/19 hr
D- 210/19 hr

\_E=Tone of these

https://t.me/mathbytarunsirmepl






, ~ Question 3- If the ratio speed of boat P and the speed of water 1s 4:3
m and total time taken to cover upstream distance is 4 hr more than the
~ downstream . Then find approxim@ P to cover a

distance pstream.

30 = 3- < AT P ohl el ST AT 3h i 3BT ST 4:3 & 3 &N 6
@\@En%lwaﬁ a3 ohuﬁmmwwwwmaﬂomﬁ4a%aﬁ$%l
Brog=Down T 7l P g €T o6 Sfershet 290 3 &Lt o1 i H foram 1T o o

g (ar)(v Y st : A-4 hr

= - B- 2 hr

C-6hr

D- 9 hr

“F=none
https://t.me/mathbytarunsirmepl







TOTAL
NUMBER
OF VOTES

PERCENTA
GE OF
VALID
VOTES

RATIO OF
VALID
VOTES OF
P AND Q

5:3
5:4

7:5



- Question 4- In C no. of valid votes of Q was 200 then find ratio of

number of valid votes of P and Q.

I 4- €t @8 Ue Q o < Wl hl FEAT 200 off, AT P aﬁtQé;éﬂm?ﬁeﬁ
HT hT ST A1 IS







Question 5- If the number of votes increased by 50% from B to G. It

16% votes valid in G then find number of valid votes in G. 3
94 5- 3fe Al i §&AT B W G o 50% 51¢ Sl 81 A< G W 16% H 714
2, a1 G U 99 =l shl G&AT JTd ShiTs| -




G7=/50%5//000
61= [500



30 Question 6- If the average number of valid votes in_ B and E 1s 1300 1s

m . So valid votes 1n C 1s what percent more than valid votes of B.

e aﬁmﬁémra&aaaﬁwg@moo%vsaﬁqcﬁaﬁz

A-803% b3 derar & P R i B
B- 70/3%

C- 40/3%
D- 20/3%

E- none







What approximate value should come 1n the place of question mark

(?) in the following question?

ﬁmﬁf@aqaﬁg%rﬁa(?)ohwwq{&dHlHdHHoMl&l«u%lT%Q‘?
Question 7-(263.99 + (33.05 €8.08 — 31:99) =

= Q64 = |

= “A- 24
i%’ B- 44

= C- 34

— 30 D- 54
E- 64




What approximate value should come 1n the place of question mark

(?) in the following question?

A TTRerd 5 | 951 1@ (?) o U 9L STIATH HI 0 3] aT%Q‘?
Question 8- 24.96% of 299.99 + 44.98% 0f 399.99 = ?

:QS%,?ZOO—(- HS%%HOO

—A=255
== 15+ 1§ . B- 200
= ZSS C- 240

—_— 30 D- 300
E-275



What approximate value should come in the place of question mark

(?) in the following question?

HHTIRed w5 | 959 1@ (?) o T 9T STIATH HI 1 31|«||%|T%q9
Question 9- 119.89 - ‘+@ +3.98} =2

=120~ [651“507

=y #

= C-5
e 30 D- 20

R 25



Qo %\S

What approximate value should come in the place of question mark
(?) in the following question?

A TTRerT 5 | 959 1@ (?) o U 9T STIATH HIT 1 3] %lT%Q‘?
Question 10-27.17 H12.98)- 14.89% of 79.9 =?

= deEa
=78 A- 40
== B- 35
C- 15
30 P27

E- 25



Question 11- Pipe P and Q fill a tank in 24 minutes and 32 minutes.
Both pipes are opened together then after how much time pipe Q

should be closed so that tank fill in 18 minutes.

T 11- 9739 P 3T Q Teh Sohl ol 24 Tiee it 32 e § s 81 27
9189 hl Ueh Q1Y WIAT ST B, AT fohd T8 ok S8 U139 Q i &g o [T

| STHT ATET dTfeh dehl 18 e o Wt Sime? |
| e fols Q=6-17 A minue
. = - 12 minute
&% 3> J jg 7“ QH‘ C- 20 minute
/Q Q?B%: &'n\m D- 10 minute
W%d_éf F:— (&XL/ \ e -DE-/n,one |




Question 12- A 1s 120 liter of mixture of alcohal and water in the

ratio- 17 : 7. 40% of mixture 1s poured out and poured into vessel X.
Vessel X contain(a 200 liter mixture 9t equal alcohal and water. Find

——

the new ratio of alcohal and water.

T 12- A 120 ST Teshige AR AT T fHH07 17: 7 6 ST H 2
THSI0T 3T 40% STTEL STAT SITAT & SR o= X H STl STt gl 377 X 0
U Teahigd A I 3T 200 et [T 81 STeshieet ST UHT ot 137

YT T4 IS
= LA=67:57
B-17:10
C-11:12
D- 23:40

E- none

30



Pce#o =(Jeo +34) (oo t14)

= 134 Hy
=

e
/—_




Question 13- Akash borrowed Rs. 16,000 from a bank to purchase
one bike. If the rate of interest be 30% per annum compounded

annually, what payment he will have to make after 2 years 4 months?
T 13- SR A Teh 15k Wiied o {8 Ueh ek @ 16,000 T 3T
foTw) s a1t <t & 30% Jicd Iy ST ANk ©, 1 36 2 99 4 W& o

0 T AT AT TGN
Amanth I
A o g | A-Rs 39144
30 B- Rs 29144
C- 49144
D- 22144

(E=10ne of these
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(\/ Question 14- What is the probability of getting 53 Mondays 1n a leap

m year?
T 14- A9 I8 H 53 FIHIT ITH Hid bl TTRIhdT T 27

How W

A-1/7
B- 3/7
C-4/7
D-5/7

E- none of these
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Question 15- A dice 1s thrown simultaneously. Find the probability

of getting a prime number. .
T 15- Teh ©T UTHT Wkl SITAT 2| STHTST T&AT UTH A ohl ITRIeRdT JTd

Moo o ek

/g/ . A-1/7

n<= D;‘((o 3 L 30 B-3/7
s C-4/7

D-5/7

E- none of these
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